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73781

(i) YT G & Y97 &1 6 & 15 A7-T7 371 & 97 & | 5785 I T 50 e
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(ii) YT T & Y97 &7 16 G 21 GiT-Tia 37| & Y97 & | 598 I FTYT 70 Jecl
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(viii) YT T & J97 &7 22 & 27 JINcHF HI9T W SERT 71-31 37h] & Jo7 & |
5% GRT I T 8/

General Instructions :

(1) The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

(it)  All questions are compulsory.
(iit)  Internal choice is given in Sections B, C, D and E.

(iv)  Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

(v) Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

(vi)  Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

(vii) Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

(viit) Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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HIT A
SECTION A
1. 9% g9 % had o [ [l TRUY gl forgati & = fawer=r 1 diee 3 ?

When do we say that the potential difference between two points of a
circuit is 1 volt ?

2. IR U Tl 1 fore Toefl SMER srEaen & fafie =wor fafau | 1

Write various steps of a terrestrial food chain of four trophic levels.

~

WA o
SECTION B
3.  SFCHI o TAMAU gRT B3R 3TfeTse §A1 RISy | 2

Show the formation of magnesium oxide by the transfer of electrons.

4. oW #01 g ? Ugdg ¥ fifsd 3 MR &1 39 $gfa 1 SolawH goht i

ToRe ST 8 2 9
areraT

P8 redt <t ufei i fa et i fowm & wig F vfa @ T yew fim

@_Vﬁ%? 9

What is insulin ? Why are some patients of diabetes treated by giving
injections of insulin ?

OR

How is the movement of leaves of the sensitive plants different from the
movement of a shoot towards light ?

5. 9 &I U5H vad T ToRd T TaeH 3099 Hidl 7, T SH IR hid &l
T HATIATHR T[Ceh] his Taed Icdd g Ll | i 2 2
A glass prism is able to produce a spectrum when white light passes

through it but a rectangular block of same transparent glass does not
produce any spectrum. Why ?

qamr e
SECTION C

6.  ffaeieH i srgufedfa steran st o oeh o forgved < e i s Hifvw | 3

Explain the ways in which glucose is broken down in absence or shortage
of oxygen.

| htips/byjus.com | P.T.0.
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7. THd 8T % IR HE hl G SEEY | TG KR H Qa0 GRE=R Fi ATTIh
8 ? 3

List four functions of the human heart. Why is double circulation
necessary in the human body ?

8. (a) HNd HAfEIsH & 3T UM 1 W fdAfgu I () Vs fhamsti, 3t

(ii) IA=a fsransti =l G a1 3 |
(b) giEfT dfem 93 o1 wE g | 39 99 % seEal & AW IR Ik
I TS Hl IgT@ hIT | 3

(a) Name the part of human brain which controls (i) voluntary actions,
and (ii) involuntary actions.

(b)  Write the function of peripheral nervous system. Name the
components of this system stating their origin.

9. fT=fafRaa < samEn ity 3
(a)  STfd-3gwed
(b)  TTeRideh ==
AT

Ted 3 T & Well o 919 fhU T T 4 § U O § M 9 o1l 3R
Flier i aret 7 o Wi 61 fafve fohemi w1 dehtor = | 39 g0 g Fy

3R F, digt # g9 el o Buee o Y&IU 1 R AfZd 3@ hIfoe | et st

% Afdis Buga gRT 19+ T H 3w fobu e fepedl @t fawarfelt (faepedt)

A AT T o Uit Shi g oft SIS | 3
Explain the following :

(a)  Speciation
(b) Natural Selection

OR
Mendel, in one of his experiments with pea plants, crossed a variety of
pea plant having round seeds with one having wrinkled seeds. State
Mendel’s observations giving reasons of F; and F9 progeny of this cross.
Also, list any two contrasting characters, other than round seeds of pea
plants that Mendel used in his experiments.

10. SIS 9add ford shgd @ 2 AHifshd 3@ hl WERAT ¥ a1 hifve T
Ry § femrE 23 9t foreft o <hr feufa sgeht arcafass feafa 4 g1t 2 3
A>T
%7 H 93 Torelt BT w1 I8 g0 He had ¢ b 98 Fehegfee g @ fifsa g 239
T o QA HRON h FA FARY | RO @ T ITIN Ik A % 39 QY b
MY o 39 hl SFRedT HIfSu | 3
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What is atmospheric refraction ? Explain with the help of a labelled

diagram that the position of a star as seen by us is not its true position.
OR

When do we consider a student sitting in the class to be myopic ? List two

causes of this defect. Explain using a ray diagram how this defect of eye

can be corrected.

11.  “9EE (39 19) T 953 399 7 |7 39 H9F I g o foTT Im SR i g
TS | 39 T o Y@ Teh 1 A9 R gHeh! Ufqradr 1 3@ i | 3

“Biogas is an excellent fuel.” List four reasons to justify this statement.
Write the main constituent of this gas and state its percentage.

12. <faor wid < feRelt g ® @ 3 foRet Sfie o IR o wEel I ST a
& | 38 309 # gfg & foru orom =l 6 39 e | sfte & g arn mn fe
I8 3N & Tk IIghl ¥ W TS B qUT STtk e § Sl St 9y &
@ |
39 feufa =1 fowerwor Shifse den sfie & el i i glg 3R Siefa el
%1 g & HRUN 1 3@ HINT | 3
In a village of South India people started cultivating crops all around a
lake. They added fertiliser to their field in order to enhance the yield.
Soon after it was discovered that the water body was completely covered
with green floating plants and the aquatic animals started dying in large
numbers.

Analyse the situation and state reasons for the excessive growth of plants
and death of aquatic animals in the lake.

13. <A grgsti P, Q 3 RH, P &l Afshaar Q & &9 g @1 R ! Afshaar P 3R Q
gHl | 3 B | I8 WET TRaTehey gemst g g P, Q 3R R 1 S

Tl B3 TishAAT o HH H sHafedd fopam ST Hehall @ | 3
3T

Hehll o 3TWh ! A1 faifau | Ggfcta Tamfe aHiehn 6 Fgrar & Tehit

%I 3ok 3TIH © TISRYA St hl TishaT hl SATEAT HINT | 3

Out of three metals P, Q and R, P is less reactive than Q and R is more
reactive than P and Q both. Suggest an activity to arrange P, Q and R in
order of their decreasing reactivity.

OR
Name the ore of mercury. With the help of balanced chemical equations,
explain the process of extraction of mercury from its ore.

31312 T P.T.O.
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14. Tt I e B i I Ih TR (Melt) ol § W W TH F@ent
feaferdt 81 St 8 | Aiffes B FA-Ueehel! JfshAT T Teh I9TAE Wt 8 | B
TEANT | 3H AMMHAT % THR k1 3Ig@ hifit 1 B 3 et anefiw
ATFEATES, A Tohl SEIFIEE & s Bl & | 30 AMNGHAT T THEHS
grfiertor ot fafau | 3

A dry pellet of a common base B, when kept in open absorbs moisture and
turns sticky. The compound B is also a by-product of chlor-alkali process.
Identify B. State the type of reaction that occurs when B is treated with
an acidic oxide, say sulphur dioxide. Also write chemical equation for the
reaction involved.

15. “forelt WAt % foTu forell a0 1 T AT 38 a7 o TRETY] GEIHH
H g | AU IuYH = AE A 2 17 qd X (W] ShHRR 13) H
IETE Tkl 38 e shi gfee HIfTT | 3

“Atomic number of an element is considered to be a more appropriate

parameter than its atomic mass for a chemist.” Take the example of the
element X (atomic number 13) to justify this statement.

W
SECTION D

16. (a) I3 fore fohet 3T <l & THIRIH hrg AN IGh &I BT & o9
feorg 2 | s arer ufdfers & =w ifirereqon & g=ht sHET |
(b) 20 cm WIshE G < FopEl Hadet oig g 3Heh @ feurq fepet forat o

EIES R %W@aqﬁﬁmwﬁ@ﬁiﬂ% | <im & fors 6 g I
T | 5

(a)  List four characteristics of the image formed by a convex lens when

an object is placed between its optical centre and principal focus.

(b)  Size of the image of an object by a concave lens of focal length
20 cm is observed to be reduced to %rd of its size. Find the distance

of the object from the lens.
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17. (a) Ry, Ry 3 Ry ufcie o o ufcgss (i) Sofisem ®, qom (ii) wreeishy H
A 2 | Tcieh Joht0T § FASH o god Uiy o oy =eteh fofEu |
(b) 12 Q % < HIgy Ylquegss 3V 6 frell st @ wifsa € | Feaw
yfeig 3R Afgehay gfckia o afomdt TFieMi gRa Uy IIRIl i
AT qiehictd hiforT | 5
Srra
(a) g P IR ATIEAFIE &IHA ‘A’ o IHIhR 3Thid & FRE =Tere
% gfeiy R 3usk ugrd i Igd wieieshar & o9 dey fafa | 3@
TehT JEd fciegehdl &1 S.I. A Scad i |
(b) b5m o frefl arg & arR &1 gfay 1000 B | A W AR A
ITITY-HIE T &A% 3 x 107 m? B, a1 &g < gfatrererar qferford

HIVT | 5

(a)  Three resistors of resistances Ry, Ryo and Rg are connected (i) in
series, and (ii) in parallel. Write expressions for the equivalent
resistance of the combination in each case.

(b)  Two identical resistors of 12 Q each are connected to a battery of
3 V. Calculate the ratio of the power consumed by the resulting
combinations with minimum resistance and maximum resistance.

OR

(a)  Write the relation between resistance and electrical resistivity of
the material of a conductor in the shape of a cylinder of length
and area of cross-section ‘A’. Hence derive the S.I. unit of electrical
resistivity.

(b)  Resistance of a metal wire of length 5 m is 100 Q. If the area of
cross-section of the wire is 3 x 10”7 m?, calculate the resistivity of
the metal.

18. (a) Torelt vhEmM graehld &F | & o oireaq foId gREmE! @Y e g
39 fopu S el st 1 e feifa @ arer fem @ am o e
foRem |

(b) Tergq Ao 1 AmifeRa @ Wifww | 5

(a) Name and state the rule to determine the direction of force
experienced by a current carrying straight conductor placed in a
uniform magnetic field which is perpendicular to it.

(b)  Draw a labelled diagram of an electric motor.

31312 T P.T.O.



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

- _ R
@Bevwus

19. (a) S fohd HEd § ? 59 Qf TR ohl FAT SHIST |
(b)  THHIREHE SAi R TgehlRIeh Sial § S ol faumd fohe Jepr fim

Bl & ? 5
e
(a)  ifireh =i T (STD) AT &ld & ? &1 Y] S 37 g1 SR Eshiid
iR F=ia Wt hl T TA1EY |
(b) ™ iy fora wed 3 2 FRius suEt @ oA & fi= Frn f =
EEIE 5

(a)  What is reproduction ? List its two types.
(b) How are the modes of reproduction different in unicellular and
multicellular organisms ?
OR

(a) What are Sexually Transmitted Diseases (STD) ? List two viral
and two bacterial STDs.

(b)  What is contraception ? List three reasons for adopting
contraceptive methods.

20. TIEATCHS THEATHS R B & ? THEATH I o IR ANALN hl FA IR |
A i HTFAT TG G | 5
What are structural isomers ? List any four characteristics of isomers.
Draw the possible structures of butane.

21. (a) fgfaxemum sifufsran fore e 2 2 forelt Serewor wfga =amen Shifv |
(b)  Torelt ot & $© a1 iRt 3T o1 g3 91 <t F© 9T Tirers At 7
() B areft tfufshar 1 A Sfit 3wt it fafaw |
(i) I AGRAT 1 TfcTa T THieRo 3§94 dTel IeaTg
&1 THRS M fAfET |
(iii) 39 sk & g1 Y@ Yeavn <t Tt F918T | 5
HAAT
(a) S T8¢ i uued (fornem) eafufsren =1 faeffa @ & fau foeht
ToRaTehetTa <1 TR ShIfT |
(b) TR SHEEYT 1 AHIThd ARG Gi=eht & TH@ J&vT <l T FA1ET |
() JAfywHs R 3Ieaal i ifash ofexem 1 Ig@ A ¢ B Al
JATYTSHAT ST AGfeTd T Fefiehtor fafEu | 5
(a)  What is a double displacement reaction ? Explain with an example.
(b) A small amount of quick lime is added to water in a beaker.
1) Name and define the type of reaction that has taken place.

(i1)  Write balanced chemical equation for the above reaction and
the chemical name of the product formed.

(111) List two main observations of this reaction.
OR

317312 Errre
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22,

(a) Design an activity to demonstrate the decomposition reaction of
lead nitrate.

(b)  Draw labelled diagram of the experimental set-up. List two main
observations.

(¢)  Write balanced chemical equation for the reaction stating the
physical state of the reactant and the products.

g
SECTION E

3@ H T MY FieeHiel o T R o= FHifvy R f=faied Je i % 3™
Qfve

15
0 3.0
VvV
(a)  dlceHIEX T 3ToUdHieh 41 & ?

(b)  SCHIST T ITSATH T 8 ?
(c) Ife I8 dicedier foret 20 Q & gfeiues & & @ 9aifod 2, a1 Sfatees

O forat & Yaifed g1 @ 2 2 2

Consider the scale of a voltmeter shown in the diagram and answer the
following questions :

1-5

\%

(a)  What is the least count of the voltmeter ?

(b)  What is the reading shown by the voltmeter ?

(c) If this voltmeter is connected across a resistor of 20 Q, how much
current is flowing through the resistor ?

| htips/byjus.com | P.T.O.
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23. forelt ey fora o1 wldfors ume whtes foU TTU sterdet quur <t |feehe wiskd gl
freif@ s < J=T @l S i fafe < =wen 6 shHar g 99T | 2

rEn
forel B &l 3TUad v o IR fafie 9 & fT i & IR e 3
oA aTell JehTeT Tohtor =T 99 TR T 7 |
(a) 9 SN <l Q1 Hgwqul WG] Al g ST |
(b) 39 YN 9 I4TNG B g ekt MU g fsest i g=ht S8 | 2

List in proper sequence the steps of the experiment for determining the
approximate focal length of a given concave mirror by obtaining the
image of a distant object.

OR

A student has to trace the path of a ray of light passing through a
rectangular glass slab for four different values of angle of incidence.

(a)  Write two important precautions for this experiment.

(b) List two conclusions the student will draw based on his
experiment.

24, UIATEH A & = feu MU quret 1 STeEE L a9 A St fased feprei
Wﬁ@w: 2
(a) 74
(b) S H focrar
(¢ Tofew® v3 w yuma
(d) GIfeTH TEEISH HIEHC o T TR

List the conclusions you will draw while studying the following properties

of ethanoic acid :

(a)  Odour

(b)  Solubility in water

(c) Effect on litmus paper

(d)  Reaction with sodium hydrogen carbonate

317312 ErT e



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

- _ R
@Bevwus

25. a1 SRl § HH Hohe o faered W § SR $H Tk H IO hl Wl SR | H
tgfufem 6 ot Se % T 1 Hue % geTq @ Jeqer g 2 A W d g
giads 9T S g, O g arelt afufsen s am qen sifufsen s wamftes
gt oft feafigu | 2

YT
1 D HE Towhe fsheeed oot forgved (faem) erfurfspen =1 srem e

ITEAT & | 39 YA okl hld THT 3Teh g XAl S dred] & graen=ai fafge | 2

What is observed after about 1 hour of adding the strips of copper and
aluminium separately to ferrous sulphate solution filled in two beakers ?
Name the reaction if any change in colour is noticed. Also, write chemical
equation for the reaction.

OR
A student wants to study a decomposition reaction by taking ferrous
sulphate crystals. Write two precautions he must observe while
performing the experiment.

26. Yl 1 YU i & [T it o fSIeh 1 AR ARYW AR K % YA H
T A & (A & 3 gal o1 39 hid & | 39 2di & 4 fafEe ok

3@ i s A ga e 3R T 39T fohU oTd 2 | 2
sreraT

3 =R gEgrE $ 3t wE # g s S qred g9 Ut W foerh @

STEITT ST IR hid THY hid & | 2

In the experiment of preparing a temporary mount of a leaf peel to
observe stomata, we use two liquids other than water. Name these two
liquids and state when and why these liquids are used.

OR
List four precautions in proper sequence which we observe while
preparing a temporary mount of a leaf peel.

27. Tt 8@ 9 “vema #i @y # CO, Fperdt 37 1 oA % o 3w
AEd L T 8 | T 1 992 % 99ETq a8 eht™ et § St o add | hlg
=L TE ATl | TANT hY TEHeAdT o g FHIfId HRoT fafan | 2
A student has set up an apparatus to show that “COq is released during

respiration”. After about 1 hour he observes no change in the water level
in the delivery tube. Write two possible reasons for the failure of the
experiment.
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